SP-6057 CONCRETE SAW—WIRING HARNESS/CIRCUIT BREAKER ASSY.
WIRING HARNESS/CIRCUIT BREAKER ASSY.

AUXILIARY

ROCKER

LIGHTS SWITCH
ROCKER
SWITCH

IGNITION

{ BLK LIGHT

YEL

REAR VIEW
TACHOMETER

: RED
YEL BRﬁ/
BLU/ RED

(\&&E& < 96

S
ORG/G Red

@

CF CIRCUIT BOARD
PANEL

SP-6000 SERIES SAWS
see next page for legend



SP-6057 CONCRETE SAW—WIRING HARNESS/CIRCUIT BREAKER ASSY.

WIRING HARNESS/CIRCUIT BREAKER ASSY.

NO. PARTNO. PART NAME Qry. REMARKS
1 933242 WASHER 1
2 10133 NUT, NYLOC 3/8-16 1
3 406012 MOUNTING BAR, CIRCUIT BREAKER 1
4 25935 NUT, HEX 10-32 W/STAR WASHER 3
5 933076 WASHER, FLAT SAE #12 ZINC 2
6 923201 SCREW, SHC 1/4-20 X 1/2 2
7 406019 CIRCUIT BREAKER, 10 AMP 3

SP-6000 SERIES SAWS



